ŘEŠENÍ:

	
	Čokolády
	Bonbóny
	Lízátka
	Žvýkačky
	Oplatky

	Pondělí
	3
	5
	1
	2
	4

	Úterý
	4
	2
	5
	3
	2

	Středa
	5
	1
	3
	5
	3

	Čtvrtek
	2
	1
	2
	1
	1

	Pátek
	2
	2
	2
	2
	2

	Sobota
	2
	2
	4
	2
	5

	Neděle
	1
	2
	1
	1
	2


1. a) 3 + 4 + 5 + 2 + 2 + 2 + 1 = 19 čokolád

b) 5 + 2 + 1 + 1 + 2 + 2 + 2 = 15 bonbónů

c) 1 + 5 + 3 + 2 + 2 + 4 + 1 = 18 lízátek

d) 2 + 3 + 5 + 1 + 2 + 2 + 1 = 16 žvýkaček

e) 4 + 2 + 3 + 1 + 2 + 5 + 2 = 19 oplatek

2. a)
pondělí
_______________________


b)
úterý

_________________________


c)
středa
_________________________


d)
čtvrtek
_________________________


e)
pátek

_________________________


f)
sobota
_________________________


g)
neděle
_________________________

3. středa

4. čtvrtek

5. 5 – 2 =3

6. vlastní doplňování

3 + 5 + 1 + 2 + 4 = 15





 4 + 2 + 5 + 3 + 2 = 16





5 + 1 + 3 + 5 + 3 = 17





2 + 1 + 2 + 1 + 1 = 7





2 + 2 + 2 + 2 + 2 = 10





2 + 2 + 4 + 2 + 5 = 15 





1 + 2 + 1 + 1 + 2 = 7
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